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1 100kN/m#E#BZ % — -~ — —|3mEEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ - — —
Th s 1.00| 0.00 ~ 465 5791 | Zhlst | 000 ~ 4.65| 1.85 9.37 zh s 1.00| 500 ~ 5.00 5791 | Zh 4t | 500 ~ 500 | 1.85 9.37
9 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3m%EEZD -~ - — —
Th s 1.00]| 000 ~ 7.04 89.30 | #h A4t | 000 ~ 0.00| 1.73 8.76 Th s 1.00| 500 ~ 8.80 89.30 | #h A4t | 5,00 ~ 880 | 1.73 8.76
3 100kN/m#E#BZ % 1.00| 0.00 ~ 0.52 107.78 |3m%EF{EZ % -~ — — —| 100kN/m%#E%%| 1.00 [10.79 ~ 1240 107.78 |3m%EF{EZ % -~ - — —
Th s 1.00 ]| 052 ~ 831 100.00 | £hList | 000 ~ 831 | 2.08 10.52 zhs 1.00| 5.00 ~ 10.79 100.00 | £h st | 500 ~ 1240 | 2.08 10.52
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ - — —
Th s 1.00| 0.00 ~ 6.03 7553 | #hllst | 000 ~ 6.03| 1.89 9.55 Th s 1.00| 500 ~ 7.20 7553 | #hlst | 500 ~ 7.20 | 1.89 9.55
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ - — —| 100kN/mi%E#BZ % — -~ — —|3mEEZD -~ - — —
Th s 1.00 | 0.00 ~ 4.77 5950 | #hl4t | 000 ~ 0.00 | 1.71 8.66 Th s 1.00| 500 ~ 5.00 5950 | #hd4t | 5,00 ~ 500 | 1.71 8.66
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImZHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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